Math 2300: Calculus Fall 2019

Lecture 37: Fall 2019

Lecturer: Sarah Arpin

One of each test! The instructions are the same for every problem: determine whether or not the series
converges or diverges and prove your result.

37.1 Divergence Test
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37.2 Geometric Series

*If this one converges, find the value of the sum.
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37.3 Telescoping Series

*If this one converges. find the value of the sum.
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37.5 Integral Test
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37.7 Limit Comparison Test
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37.8 Alternating Series Test
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37.9 Ratio Test
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37.10 Absolute/Conditional Convergence

Determine if the series is absolutely convergent, conditionally convergent, or divergent:
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